[ Efficiency vs vertpos |

~ 05
Q045 weerrr e
2

O S e ERREERIIES
[S]

©0.35

[

£ 03

B
.
0.05E; -5 A AR Beoeennn
o 10Er |T +¢|T++ "
= L. Lok ot ey L
T R
L1
1072 10 1 1 2
0 0 TP (\)/ertr(cr%)o
—=— DQM_CKF_501tQCD
T —_— BSMfmtlE:i 332883 nc
@ —— DOM_mkFit_softQCD- nE\'/)vTrS
N 0.2r
20.18F
2] L
> 0.16}
>
8 I
$0.14F
(8] L
£ 0.12F
(]
0.1
0.08F
0.06F
0.04
0.02
o 0
© L2 ~' -------------------
0: b

et T ) .

L ++++00¢-”0‘”+
08305 =20 =10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.5:
& 0.45F
e o
7 0.45—
20.35F
L>)~ o
2 0.3F
o F
(&} -
£ 0.25
(] F
0.2F
0.15F
0.1
0.05E-
o o i
I T : ;
© EHT Bt
0'92" - '\ut#* ++*+++#5.....;... .
0.8

51510~ 5 0510 1520
Sim. PV z (cm)



	Contents
	Page 1


